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Stimare il quoziente Nome:
Determina quale lettera sia la stima migliore. Risposte
1) 82+19= 2) 269+ 89= 3) 724+93=
A. 3 A. 2 A. 5 L
B. 2 B. 8 B. 8 '
C. 4 C. 3 C. 2
D. 7 D. 5 D. 6 2.
3.
4) 299+ 62 = 5) 237+ 42= 6) 182+ 33=
A 7 A 2 A. 9 4
B. 5 B. 3 B. 4
C. 6 C. 6 C. 6 5.
D. 8 D. 7 D. 8
6.
7) 103+ 22= 8) 156+ 39 = 9) 116+ 64 = 7.
A. 9 A. 5 A. 6
B. 5 B. 4 B. 2 8
C. 7 C. 3 C. 8 '
D. 3 D. 7 D. 5
9.
10.
10) 359+ 36= 11) 58+ 18= 12) 303+ 54=
A. 5 A. 9 A. 2
B. 4 B. 7 B. 6 1L
C. 3 C. 8 C. 9
D. 9 D. 3 D. 3 12.
13.
13) 447 + 46 = 14) 207 +28= 15) 251+ 47 =
A. 6 A. 9 A. 8 14.
B. 5 B. 3 B. 3
C. 9 C. 7 C. 4 15,
D. 4 D. 6 D. 5
16.
16) 148+ 26= 17) 353+51= 18) 544 + 58 = 17.
A 7 A. 2 A. 9
B. 9 B. 5 B. 8 18
C. 6 C. 7 C. 7 '
D. 5 D. 9 D. 2
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Stimare il quoziente

Nome:

Soluzioni

Determina quale lettera sia la stima migliore.

1) 82+ 19 =
A. 3
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4) 299+ 62 =

7) 103+22=

10) 359+ 36=
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13) 447+ 46 =

16) 148+ 26 =
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M atematica

Risposte
2) 269+ 89= 3) 724+93=
A. 2 A. 5 L C
B. 8 B. 8
C. 3 C. 2
D. 5 D. 6 2 C
3, B
5) 237 +42= 6) 182+ 33= B
A. 2 A. 9 4.
B. 3 B. 4
C. 6 C. 6 5, C
D. 7 D. 8
6. C
8) 156+ 39= 9) 116+ 64= 7 B
A. 5 A. 6
B. 4 B. 2 8 B
C. 3 C. 8
D. 7 D. 5
9. B
10, D
11) 58+ 18= 12) 303+ 54=
A. 9 A. 2 D
B. 7 B. 6 11.
C. 8 C. 9
D. 3 D. 3 12, B
13, C
14) 207 +28= 15) 251+ 47 = c
A. 9 A. 8 14,
B. 3 B. 3
C. 7 C. 4 15, D
D. 6 D. 5
16. D
17) 353+ 51= 18) 544+ 58 = 17 C
A. 2 A. 9
B. 5 B. 8 A
C. 7 C. 7 18
D. 9 D. 2
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